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Match #7


These questions are for use in the Virginia High School League’s Scholastic Bowl Region competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Regions must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL Region champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your Region’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
For a sphere, it is two-fifths M R squared; for a cylinder, one-half M R squared; and for a rod, one-twelfth or one-third M L squared, depending on the point chosen.  For a hoop, it is either M R squared or one-half M R squared, depending on the axis chosen.  For a point mass, it is M R squared.  Name this term for the rotational analog of mass, usually abbreviated I.

ANSWER: moment of inertia
2.
Yuri Matiyasevich used them to solve Hilbert’s tenth problem.  Named after a man also known as Leonardo of Pisa, it can describe the reproduction of immortal rabbits.  One and 144 are its only squares.  The ratio of successive terms approaches the value of the Golden Ratio.  Name this sequence of numbers in which each term is the sum of the previous two terms and starts out 1, 1, 2, 3, 5, 8, 13, 21, 34.

ANSWER: Fibonacci sequence

3.
This novel’s protagonist almost commits suicide when listening to the music of Otto Skadelig and being locked in a room by the writer F. Alexander. Its author created a Slavic-based slang called Nadsat; this slang terms such as droog and moloko. Its protagonist murders a ‘cat lady’ and is then forced to undergo the Ludovico Technique to stop his violent impulses. In what novel by Anthony Burgess is Alex interested in Beethoven, rape, and ultra-violence? 
ANSWER: A Clockwork Orange

4.
FiveThirtyEight.com predicted a 1.5-point victory for John McCain in this state, despite a 20-point Bush victory here in 2004. This state shocked all crowds, however, by starting with a narrow McCain lead when polls closed at 6 PM and only tightening from there. What was this state that went blue for the first time since 1964 thanks to heavy Democratic turnout in South Bend, Gary and its namesake capital?


Answer: Indiana
5.
This country lost its independence during the Sturlung Era and did not regain it again until it became a republic in 1944. It entered the news for hosting a 1986 Reagan-Gorbachev summit and Bobby Fischer’s match against Boris Spassky. In 1976, after attempting to expand its fishery zone to 200 nautical miles, it fought a ‘Cod War’ with the United Kingdom. What country had another spat with the United Kingdom in 2008 after the failure of its three largest banks? 

ANSWER: Iceland
6.
Hesiod said she had three sons, one of which was Latinus. Her siblings included Aeetes (EE-uh-teez), owner of the Golden Fleece, and Pasiphae, the wife of Minos. After Glaucus refused her love, she turned Glaucus’ beloved Scylla into a monster. She lived in a palace on the island of Aeaea (AY-ay-uh), surrounded by strangely tame wild animals. Odysseus needed the herb moly to counteract the effects of her magic. What sorceress had turned several of Odysseus’s men into pigs? 

ANSWER: Circe
7.
They can be created through gem halide hydrolysis, the Nef reaction, Fukuyama coupling, or by oxidizing secondary alcohols.  According to the IUPAC (eye-you-PAK), they should be named by changing the suffix –e of the parent alkane to the suffix –one.  The simplest one is acetone.  Name this type of organic compound with a carbonyl functional group and alkyl and/or aromatic groups.

ANSWER: ketones
8.
Ralph Waldo Emerson called it ‘the most extraordinary piece of wit and wisdom America has yet contributed.’ In contrast, 19th century critic Rufus Griswold called it ‘a mass of stupid filth,’ accusing its author of ‘that horrible sin not to be mentioned among Christians.’ The last of its nine editions was 1892’s ‘deathbed edition.’ Poems such as ‘When Lilacs Last in the Dooryard Bloom’d,’ ‘I Sing the Body Electric,’ and ‘Song of Myself’ are all in what collection by Walt Whitman? 

ANSWER: Leaves of Grass
9.
Consisting of the order Cingulata, surviving ones are in the family Dasypodidae.  They can be carriers of leprosy and one genus of them gives birth to identical quadruplets.  Types of them include the Pink Fairy, Big Hairy, Three-banded, and Nine-banded.  Name this mammal usually found in the southern United States whose name is Spanish for little armored one.

ANSWER: armadillo
10.
While he was an education advisor to then-Texas governor Bill Clements, he instituted a ‘No Pass/No Play’ rule for high school athletes. By the end of the 1980s, he was arguing that America was ‘daydreaming of our past’ and had lost its edge. Supporters of this founder of Electronic Data Systems established United We Stand America in response to a request made on an episode of Larry King Live in 1992. Who organized a third-party challenge for President in 1992 and 1996? 

ANSWER: H. Ross Perot
11.
This work’s protagonist married Elena, the daughter of Prince Kuragin. The protagonist finds meaning to life after meeting the peasant Platon Karataev, with whom the protagonist shared a jail cell after being captured by Napoleon’s soldiers after the Battle of Borodino. It has two epilogues: the second concerns the author’s belief in free will and the first concerns the marriage of Pierre Bezukhov and Natasha Rostova. What is this novel by Leo Tolstoy? 

ANSWER: War and Peace

12.
Arias in this opera include ‘Ah! He has forgotten me?’ and ‘To die with honor.’ Supporting characters include the diplomat Sharpless, the child Dolore, and the matchmaker Goro. The title character’s uncle, the Bonze, disowns the title character midway through. At its end, the faithless Lieutenant Pinkerton jilts the title character, Cio-Cio San, who then commits suicide. What is this opera by Giacomo Puccini set in Nagasaki? 

ANSWER: Madama Butterfly
13.
The first objects located in this region were labeled ‘cubewanos.’ Other objects in this region include an object with a companion of Dysnomia, designated 2003 UB313 or Eris, as well as Sedna. Both were considered to be dwarf planets until given their current name.  The most famous minor planet is thought to be from what region, also the origin of short period comets and other objects known as Plutinos?


ANSWER: Edgeworth-Kuiper Belt
14.
In Mexico and France, their names translate as ‘popular box.’ The first one was founded in 1852 in rural Germany, where cash flows were often limited to harvest and planting time. They are not-for-profit, but must maintain a surplus from operations to remain solvent. Some of the largest, such as Navy Federal, have assets rivaling those of mid-sized banks. What institutions, owned by depositors, serve people with a common bond of some sort? 
ANSWER: credit union
15.
In 2007, his interception return versus North Carolina set his team up for an overtime victory. He had 4 tackles in a Gator Bowl loss to Texas Tech.  Finalist for the Lott, Nagurski, and Lombardi awards, this lineman was a consensus first-team All-American in 2007.  An alumnus of St. Anne’s-Belfield and son of an NFL Hall of Fame defensive end, he was drafted 2nd overall by the St. Louis Rams in the 2008.  What former UVA defensive lineman’s father appears on Fox and is named Howie? 


ANSWER: Chris Long
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What four-letter word describes a castle’s strongest tower, to stay in one place, or to not return an item? 

ANSWER: keep
1B.
The Chinese peasant Wang Lung is the protagonist of what novel by Pearl S. Buck?

ANSWER: The Good Earth
2A.
Also known as sinews, what type of connective tissue connects muscles to bones?

ANSWER: tendon(s)

2B.
In what war did the Rough Riders fight? 

ANSWER: Spanish-American War

3A.
What minor league baseball team played at The Diamond in Richmond before moving to Georgia in 2008 to be closer to its namesake MLB team?


ANSWER: Richmond Braves
3B.
What hormone is abbreviated by the acronym FSH?
ANSWER: follicle stimulating hormone

4A.
What mountain is the highest point in Oregon?

ANSWER: Mount Hood
4B.
Jason Vorhees is the chief villain of what series of slasher movies? 

ANSWER: Friday the 13th
5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  In simplest terms, what is 4/17 divided by 16/51?

ANSWER: 3/4
5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  An interior angle of a regular pentagon measures how many degrees?

ANSWER: 108 degrees
6A.
Joseph Stalin institute what series of plans, named for their duration, that were intended to rapidly industrialize the Soviet Union? 

ANSWER: Five-Year Plan(s)

6B.
What holiday marks the end of Ramadan? 

ANSWER: Eid al-Fitr (prompt on ‘Eid’ as there are two Eids.)
7A.
Edouard Manet created a minor scandal with what 1863 painting that depicts a nude woman in the company of fully dressed men? 

ANSWER: Luncheon on the Grass or Le dejeuner sur l’herbe
7B.
The period of Athenian history between 461 and 429 BC is sometimes named for what leader of Athens during its ‘golden age’? 

ANSWER: Pericles
8A.
Who wrote The Three Musketeers? 
ANSWER: Alexandre Dumas
8B.
In Spanish, the word éste is used to indicate a masculine noun near the speaker. The word ése is used for an object near the listener. What word is used to describe an object far from speaker and listener? 
ANSWER: aquél (ah-KAYL)
9A.
In 1995, Rasmus Lerdorf created what scripting language that can be used to create dynamic web pages? 

ANSWER: PHP
9B.
Helium nuclei make up what type of radiation?

ANSWER: alpha radiation

10A.
THIS IS A 30-SECOND COMPUTATION QUESTION.  What is the next number in the pattern 6, 15, 26, 39, 54, 71, and 90?

ANSWER: 111
10B.
THIS IS A 30-SECOND COMPUTATION QUESTION.  Solve for x and y.  3x plus 2y equals –18 and 5x minus 2y equals 30.

ANSWER: x equals 4, y equals -5
Third period, 15 toss-ups, 10 points each

1.
In 1925, a theory emerged that she had moved west, changed her name to Porivo, and died in 1884. However, other historical records show that she died in 1812, leaving behind a daughter Lizette and a son, Jean-Baptiste. Her knowledge of geography, such as the Bozeman Pass, was of some assistance. Her presence was helpful in preventing attacks, since ‘no woman ever accompanies a war party of Indians in this quarter.’ What woman accompanied the Lewis and Clark Expedition? 

ANSWER: Sacagawea (accept Sakakawea or Sacajawea)

2.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is the value of nine factorial, given that this is equal to the product of the integers one through nine and that eight factorial is equal to 40,320?

ANSWER: 362,880
3.
Connie Rivers abandons this family early on, and the Wainwright family appears likely to marry into it by novel’s end. They had several companions on their trip west: Ivy and Sairey Wilson made it as far as California, and Jim Casy accompanied them to the labor camps. Ma, Pa, Noah, Ruthie, Winfield, Rose of Sharon, and Tom were the members of what family that was at the center of The Grapes of Wrath? 
ANSWER: the Joad family

4.
His attempt to succeed Arnold Sommerfeld at the University of Munich led to attacks for not supporting Deutsche Physik (DOY-chuh FEE-seek). He won the 1932 Nobel Prize in Physics for ‘the creation of quantum mechanics.’ This scientist, active in Germany’s search for an atomic bomb in World War II, had a famous meeting with Niels Bohr in 1941. What scientist also stated that an electron’s position or momentum can be measured, but not both, a statement known as his uncertainty principle? 
ANSWER: Werner Heisenberg
5.
It is the number of years in the Great Tribulation. It is the number of churches traditionally founded in Asia. It is the number of heads possessed by the ten-horned beast that emerges from the sea. It is the number of last plagues, each started by an angel pouring a bowl onto the earth. What is also the number of seals and trumpets that appear in the Book of Revelation? 

ANSWER: seven in Revelation

6.
His uncle Four Horns was wounded at the Battle of Killdeer Mountain. He refused to accept the Treaty of Fort Laramie and kept fighting the whites. During his brief say with Buffalo Bill’s Wild West Show, he allegedly shouted insults at the audience in his native Lakota. He was shot on December 15, 1890, although he did not lead the Ghost Dance movement. He allied with Gall, Crazy Horse, and other Native American leaders to destroy the 7th Cavalry. Who led the winners at the Battle of the Little Bighorn? 

ANSWER: Sitting Bull
7.
His upcoming releases include two sequels; one about an item abandoned at a day-care center, and one where this actor's character goes to CERN to investigate a murdered physicist and a strange symbol.  He portrayed a hypochondriac on vacation in Joe vs. the Volcano. He fell in love at the Space Needle and conversed with a volleyball in Sleepless in Seattle and Castaway.  This is what actor who is scheduled to repeat his performances as Dr. Robert Langdon and Woody the cowboy? 


ANSWER: Tom Hanks
8.
An example of its incorrect use is the greengrocers’. George Bernard Shaw believed they were redundant and avoided using them. It gets its name from Greek words meaning ‘the accent of turning away.’ It is used to transliterate the Arabic letter hamza. It resembles the prime symbol that expresses measurement in arc-minutes or feet. What mark is most often used in English to express the possessive? 

ANSWER: apostrophe
9.
With E.V. Gordon, he earned his academic reputation by producing an edition of Sir Gawain and the Green Knight. His fiction includes Tree and Leaf and Farmer Giles of Ham. Stories set in his most famous universe include The Road Goes Ever On and The Adventures of Tom Bombadil. Posthumous works set in that universe include Unfinished Tales and The Silmarillion. Who created the races of Ents and Hobbits and wrote The Lord of the Rings? 
ANSWER: J.R.R. Tolkien
10.
It was independently discovered by Karl Braun and its French namesake.  It can be applied when there are changes in concentration, temperature, volume, or pressure.  The common ion effect is a special case of it.  Name this principle that says a system in equilibrium will adjust to an external stress to counteract the stress to a new equilibrium.

ANSWER: Le Chatelier’s principle

11.
Robert Levine called it ‘the mind controller’s best friend. In the 1956 book When Prophecy Fails, Leon Festinger explored this psychological concept by talking about how doomsday cults react to the world not ending. It was further explored in a 1959 experiment in which subjects performed boring tasks but were paid to convince others that it was interesting work. Doublethink is a variety of what feeling caused by believing two contradictory ideas at the same time? 
ANSWER: cognitive dissonance
12.
In the Knightfall series, he felt rejected after ‘nutjob altar boy’ Jean-Paul Valley was promoted over him. After the Crisis on Infinite Earths, Jason Todd and Tim Drake assumed his identity. In the 1980s, he moved to the city of Bludhaven and started calling himself Nightwing to forge his own identity. The youngest of the Flying Graysons was what ward of Bruce Wayne and sidekick of Batman? 

ANSWER: Robin (accept Dick Grayson or Nightwing before said in the question)
13.
This six-letter word is the common name of what a doctor calls striae. It also refers to a luxury automobile with an extended wheelbase or to the distance between the final turn and the finish line in a horse race. It is a type of warmup exercise, or as a verb, it means to recline at full length or to reach out for something. What word means to extend something beyond its normal limits, as with a rubber band? 
ANSWER: stretch
14.
His voyages are the topic of the 16th century epic Os Lusiadas. In 1492, he was assigned to harass French pirates who were raiding his country’s West African trade. In a later voyage, he sailed to Mozambique, Mombassa, and Malindi, where he used the monsoon winds to sail to India. He became Count of Vidigueira (vee-dee-GAIR-uh) after forcing the Zamorin of Calicut to sign a trade treaty. What Portuguese explorer led the first fleet to sail from Europe to India? 

ANSWER: Vasco da Gama 
15.
The ASTEROID trial studied their effects of atherosclerosis.  Scientifically known as HMG-CoA reductase inhibitors, they work by stimulating LDL receptors.  Examples of them include Selektine, Baycol, Vytorin, Caduet, Crestor, Lipitor, and Zocor.  Name this class of drug used to lower cholesterol and prevent heart attacks and disease.

ANSWER: statin
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
This drawing appears on the back of Italian one-euro coins and on the Skylab II mission patch. The center figure is simultaneously inscribed in a circle and a square. Its namesake, the author of On Architecture, declared a cubit is the width of six palms and the length of a man’s outstretched arms is equal to his height. What drawing Leonardo da Vinci contains a nude man that appears to have four arms and four legs?  

ANSWER: Vitruvian man

2.
These chemicals are part of a larger group called haloalkanes or alkyl halides, James Lovelock was the first to identify their presence in the atmosphere.  A group of these chemicals were marketed together as a refrigerant under the name Freon, before being banned by the Montreal Protocol.  Often used as propellants or refrigerants, what class of chemicals was banned after they were identified to cause ozone depletion?


ANSWER: Chloroflurocarbons or CFCs
3.
Opera student Ralph Simmons helps the narrator with a gift of civilian clothes. The narrator had been sent to the front by the unsympathetic Miss Van Campen. Other supporting characters include the nurse Helen Ferguson and the doctor Rinaldi. The narrator and his beloved escape to Switzerland after the Battle of Caporetto. Frederic Henry and Catherine Barkley fall in love in what novel, set during World War I, by Ernest Hemingway?  

ANSWER: A Farewell to Arms
4.
THIS IS A 10-SECOND COMPUTATION QUESTION.  Solve for x.  5x plus 24 equals 3x minus 10.  Remember that by canceling out to move x to only one side of the equation, this simplifies to 2x equals minus 34.

ANSWER: x equals -17
5.
It contains the eastern part of a plain called the llanos (YAH-nohs). Its highest point is Pico Bolivar. Bodies of water include Lake Maracaibo and the delta of the Orinoco River. It has a long-time claim on all of Guyana to the west of the Essequibo River. Angel Falls is in what South American country whose capital is Caracas? 
ANSWER: Venezuela
All questions ©2008 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

